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TOP TEN TEST 1

Question

1

2

3

4 £17.50

5 198.7 ÷ 4.98

6

7

8 y × y × y

9 3k = 18

10 19, 21, 23, 37

Support Answer

10 cm

10 cm



Question

1

2 0.3

3

4 £1.95

5 59.7 ÷ 2.97

6

7

8 6ab

9 3x + 2 6x + 4

10 60, 40, 10, 10

Support Answer
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TOP TEN TEST 3 

Question

1

2

3

4 £1.99

5 502 49

6

7

8 6k + 3m + k + 2m

9 4k + 2n 82

10 0,  0,  2,  4,  9

Support Answer



Question

1

2 2––
5

3

4 £44 8

5 50.6 0.49

6

7

8

9 x – 1 = 45

10 48,  49,  50,  53

Support Answer
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TOP TEN TEST 4 

10cm

6cm



Question

1

2

3

4 £500 25

5 (80.18 × 9.89) ÷1.96

6 0.3 ft 3 ft 30 ft 300 ft

7

8

9 m + 7 = t

10 a = 6 b = 11

Support Answer
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TOP TEN TEST 5 

6cm

3cm



Question

1 14 × 39 = 546

2

3

4

5 8.37

6

7

8 26 – 2n = 8

9

10

Support Answer
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TOP TEN TEST 1

4cm

3cm
2cm

Car
Cycle

Walk

Bus



Question

1 18 × 70 = 1260

2

3

4

5 135.769

6 6:15

7

8 5y = 3y + 8

9 0.1

10

Support Answer
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TOP TEN TEST 2

Jellies

Mints
Toffees

3cm



Question

1 28 × 16 = 448

2 £60

3 201 298

4

5 48.14 ÷ 5.91

6 9:50 10:15

7

8 x2 = 9

9

10

Support Answer
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TOP TEN TEST 3 

5cm

4cm

2cm

Leek

Pea

Bean

Carrot

Tomato



Question

1 17 × 38 = 646
6460 ÷ 17 

2

3

4

5

6 45 10:20

7

8 x 2 = x

9 1––
13

10

Support Answer

Set Y

Targeting level 5 Answer sheets Top Ten K
ey

 S
ta

g
e 

3 
St

ra
te

g
y

D
fE

S 
09

37
-2

00
4 

G
©

 C
ro

w
n 

co
p

yr
ig

ht
 2

00
4

9

TOP TEN TEST 4 

3cm

2cm

4cm

Other

Silver

Blue

Red



Question

1 19 × 340 = 6460

2 1.25

3 £5 £5.25

4 3.8, 1.2, 3.8, 1.2

5 28 km

6 . 80

7

8 2j + k = 22

9 5––
36

10

Support Answer
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TOP TEN TEST 5 

Drew

Won

Lost



Question

1

2 £290

3

4 7 × (3 + 4)

5 3 : 4 £150

6

7

8 2x + 1

9. 

10

Support Answer
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TOP TEN TEST 1 



Question

1

2 £70

3

4 15 – (3.9 + 6.1)

5 3 : 5

6

7

8 2(m + 1)

9

10 d 2 = 2c + 9

Support Answer
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TOP TEN TEST 2 



Question

1

2 15%

3

4 34.2 ÷ (7.2 + 2.8)

5 3 : 5 21

6

7

8 b = 9a –18

9 100 pupils

60 boys

10

Support Answer

Set Z

Targeting level 5 Answer sheets Top Ten K
ey

 S
ta

g
e 

3 
St

ra
te

g
y

D
fE

S 
09

37
-2

00
4 

G
©

 C
ro

w
n 

co
p

yr
ig

ht
 2

00
4

13

TOP TEN TEST 3 



Question

1

2 21_
2
% £10

3

4 0.4

5 1 cm 10 km

6

7

8 h = 7m–––
2

9

10 11, 12 12, 13 13, 14 

14, 15 15, 16
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TOP TEN TEST 4 



Question

1

2 51% £26.22

3

4 £20 £3.95

5 68 dollars £40

6

7

8 (n + 2)2

9

10 29 cm2

Support Answer
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TOP TEN TEST 5


